Time Lost: dot1gipdvxlan-12bd-{Y}ch-1ach-2XYpA D Rrittedtpring == @ & @& =
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Test Cases [Index]

[ 1.(10runs, packets lost average: 299069.5) 12bd-1ch-1ach-2vh-1vm1t
2. (10 runs, packets lost average: 10175.9) 12bd-2ch-1ach-4vh-2vm1t
3. (10 runs, packets lost average: 5325.6) 12bd-4ch-1ach-8vh-4vm1t

4. (10 runs, packets lost average: 4773.4) 12bd-6ch-1ach-12vh-6vm1t

5. (10 runs, packets lost average: 5441.4) 12bd-8ch-1ach-16vh-8vm1t
[T 6. (10 runs, packets lost average: 6528.9) I2bd-10ch-1ach-20vh-10vm1t
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https://plot.ly/

